- N \ A2 No.
VT 4=30Aba ) - MR EE —
20244F 4H 1H
& EPEEMASH FIL TS
T s kg L 7 FE T 6425 M
TEL : 084-959-6383 « FAX : 084-959-6384

atmEs £ B
T F %4 ®
Bk £ Hh
wmN T oE K
A 3H11H~6H10H, 9H21H~12H10H
ABLE O 1 (B HERD )
/) =h DFTA I & T
L} & ) 4 #t ES Gs
a7 %} ] N A7v7" XAEATY7" Te— BB O I K HE ’E)“/WDE’@\
MO | I L DHEL — cm mm WX DR
i 24 8 40 BB
%EE:I? * A v b O FE OH MOV A L BTk B M o & K F ik MEOVG R RR R
£ \ w00 ) LU H RS BB
BRI NS ET L DKy f A IR L Bk WEJMJB®$4u9¢E§; — ke/md
e K D X 2 A BB Rk a7 VU — boiRE —C
ﬁﬁ;ﬁﬁﬁﬂ@@ﬁ&wﬁ%%ﬁ%ﬁﬂ&wméﬁﬁmﬁﬁmfx/bﬁwaﬁmwiﬁ 60 %
A kB & A R — ke/rd DAF WA K R o BB EIR — ke/md
T ROV %1%.&3‘5&“@% — H B 20 BEEO TR EED LR — keg/ni
zz 2 5 — %| BN D AT TR & —cm
fil H iz Bt
tfv/kﬁﬂi%2¢t1¢t%/F%ﬁAﬁ [ g/cii | 3.04 [Na0eq % | —
R O e " — - 3 — |Naz0eq -
B L:UnES — A B g/ — % —
E ; . Ty ﬂﬂ Rl E AR RO K& SRR | BE o/on TRy B
o] MK A e e o ol |EReE | Sk %
)| b SRR AVE TR = BT AR HE AULFE 5LLTF 2.80 |2.59]2.64| 7.0%2.0
B @RS CHIR) | Ry IR E&ﬁmhjﬁz@ APENH L R—IE LT 2.80 |2.63]2.66| 7.0%2.0
1) — — — — — — — —
| O A ﬁﬁﬁkﬁé\‘(nmk;%wmﬁ(zow) AlbFE 20~10 7.00 — 12.72| 0.5+0.5
o (DA PRI A TR TR = B ITALHE (1505) | A KT 15~5 6. 30 — 12.72| 0.5%0.5
FeWwea R B AR TR = BT IEHE (4020) |ALSE 40~20 7.95 — |2.72 0.5+0.5
@ — — — — — — — — —
EElo) ~ A 7 410008 AEJ /K| (BEHENY T fif) Na,0e 0.9
VB0 75 @] B4 — o — ; d —
B A S - - o —
MM O E | — WK DX Sy [LAdk ik (LBK) | BErTyY B ] — %
BUER OB HE [ B — OB M — FENAT v KOO £ -
e 58 0 * ke /m
AR N T 7§ X H H 7 HL T iz % Fn il
@ @ ) @ ® ) @ ® @ @ @ ®
276 — — 160 | 333 | 500 — 373 | 318 | 370 — 2.62 — —
KE AL b 58.0 % | /K #& & M H — %[ B 44.6 %

s amaia%é {Eﬁuﬁﬂ@% Blo T, WY RLIERT 254105 “E'*H/Eb/\tt WD A KA =40 : 60
I S5 (BRERA) | WE42010 : 1505 : 4020=35 : 30 : 35




Boithz

Aic = %) B it % s
a7 ) —FoD O 277" XAFA7/7" Tn= M E B O e KTk OMANOY: ¢
MO 5| FEEIC K DL - cm mm X% E
Sl 24 8 40 BB
%EE:E vt A v b O H HE FEOVH AR Bl e M o & K Tk FEOJT MR RE R
2 y g~ = RN BB
%—\:E H 4%‘ D *ﬁ *E {iﬁﬁ*ﬁ*’{'ﬁavna%ﬁ ?r[] ﬁ%” ;(-j— % D jj Yf
BN L A5y FERRTEMIIZ FEER ) ) -l O BN REE & — ke/md
e K o X [ MR (2> ) — o R E —C
TE AE [TRFOA RO R K UM |68 FAAT 18 S OVBL & 2L REA K A > b oD BARED IR 60 %
TEM L B & 1 W — ke/nf DUT[BRL AR 0 B B A 0 E 72 — ke/nf
T EORE ERAET DM — B0 REED TR BEED LR — ke/md
z= = & — % | ENMEE DA T R E —cm
(1) Z @Rt (v) YTHOFEHEICLY v =100 %
(2)BEdE o8 (m)
at= 5 — 1.250
100
m = a1 X SL = 1.250 X 24 = 30.0 N/mf
XoT m =30.0 Nuwf

(3)kEAL FEEL(W/C) m -13.21 + 25.22 X C/W

W/C 25.22 = (30.0 + 13.21) X 100 = 58.0 % = [60% (_EPRfE) ]

SW/C = 58.0 %
(4) Bk E (W) MTHOERIZEY W = 160 ke/m
(5)HSrE A F&E(C) C =W + (W/C) X 100 = 160 = 58.0 X 100 = 276 kg/m
Cv= C + #FE = 276 +~ 3.04 = 91 £ /m
(6)255%& (A) A = 4.5 % X 1000 = 45 2 /m

(7)HENHEME(G) HTHOFEREICEIY 2»IFHE = 0.640 m/md EfEE = 61.0 %
Gv = 0.640 X 1000 X 61.0 =+ 100 = 390 £ /mi
Glv= Gv X 35.0 % = 137 #/m Gl= GIvXFEWHEE = 137 X 2.72 = 373 ke/m
G2v = Gv X 30.0 % = 117 2 /m G2= G2vXREEE = 117 X 2.72 = 318  kg/m
G3v = Gv X 35.0 % = 136 2 /m G3= G3vXHEWEE = 136 X 2.72 = 370 kg/m
(8) HALMEH & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 686 = 314 ¢/m
Slv = Sv X 40.0 % = 126 ¢ /m S1= SIvXEWEE = 126 X 2.64 = 333  kg/ni
S2v = Sv X 60.0 % = 188 ¢ /m S2= S2yXHKHEE = 188 X 2.66 = 500 kg/m

(9)HMFH=(s/a) s/a = Sv = (Gv+Sv) X 100 = 44.6 %
(10) HALIEFn A £ (Ad) Ad = C X IFIFE = 276 X 0.950 % = 2.62 kg/m
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(2)BEdE o8 (m)
at= 5 — 1.250
100
m = a1 X SL = 1.250 X 24 = 30.0 N/mf
XoT m =30.0 Nuwf

(3)kEAL FEEL(W/C) m -13.21 + 25.22 X C/W

W/C 25.22 = (30.0 + 13.21) X 100 = 58.0 % = [60% (_EPRfE) ]

SW/C = 58.0 %
(4) Bk E (W) MTHOERIZEY W = 160 ke/m
(5)HSrE A F&E(C) C =W + (W/C) X 100 = 160 = 58.0 X 100 = 276 kg/m
Cv= C + #FE = 276 +~ 3.04 = 91 £ /m
(6)255%& (A) A = 4.5 % X 1000 = 45 2 /m

(7)HENHEME(G) HTHOFEREICEIY 2»IFHE = 0.640 m/md EfEE = 61.0 %
Gv = 0.640 X 1000 X 61.0 =+ 100 = 390 £ /mi
Glv= Gv X 35.0 % = 137 #/m Gl= GIvXFEWHEE = 137 X 2.72 = 373 ke/m
G2v = Gv X 30.0 % = 117 2 /m G2= G2vXREEE = 117 X 2.72 = 318  kg/m
G3v = Gv X 35.0 % = 136 2 /m G3= G3vXHEWEE = 136 X 2.72 = 370 kg/m
(8) HALMEH & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 686 = 314 ¢/m
Slv = Sv X 40.0 % = 126 ¢ /m S1= SIvXEWEE = 126 X 2.64 = 333  kg/ni
S2v = Sv X 60.0 % = 188 ¢ /m S2= S2yXHKHEE = 188 X 2.66 = 500 kg/m

(9)HMFH=(s/a) s/a = Sv = (Gv+Sv) X 100 = 44.6 %
(10) HALIEFn A £ (Ad) Ad = C X IFIFE = 276 X 1.140 % = 3.15 kg/m
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(2)BEdE o8 (m)
at= 5 — 1.250
100
m = a1 X SL = 1.250 X 24 = 30.0 N/mf
XoT m =30.0 Nuwf

(3)kEAL FEEL(W/C) m -13.21 + 25.22 X C/W

W/C 25.22 = (30.0 + 13.21) X 100 = 58.0 % = [60% (_EPRfE) ]

SW/C = 58.0 %
(4) Bk E (W) MTHOERIZEY W = 160 ke/m
(5)HSrE A F&E(C) C =W + (W/C) X 100 = 160 = 58.0 X 100 = 276 kg/m
Cv= C + #FE = 276 +~ 3.04 = 91 £ /m
(6)255%& (A) A = 4.5 % X 1000 = 45 2 /m

(7)HENHEME(G) HTHOFEREICEIY 2»IFHE = 0.640 m/md EfEE = 61.0 %
Gv = 0.640 X 1000 X 61.0 =+ 100 = 390 £ /mi
Glv= Gv X 35.0 % = 137 #/m Gl= GIvXFEWHEE = 137 X 2.72 = 373 ke/m
G2v = Gv X 30.0 % = 117 2 /m G2= G2vXREEE = 117 X 2.72 = 318  kg/m
G3v = Gv X 35.0 % = 136 2 /m G3= G3vXHEWEE = 136 X 2.72 = 370 kg/m
(8) HALMEH & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 686 = 314 ¢/m
Slv = Sv X 40.0 % = 126 ¢ /m S1= SIvXEWEE = 126 X 2.64 = 333  kg/ni
S2v = Sv X 60.0 % = 188 ¢ /m S2= S2yXHKHEE = 188 X 2.66 = 500 kg/m

(9)HMFH=(s/a) s/a = Sv = (Gv+Sv) X 100 = 44.6 %
(10) HALIEFn A £ (Ad) Ad = C X IFIFE = 276 X 0.760 % = 2.10 kg/m
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